JI=8 Jlseg

[2024.04.21(&]]

o= Jl= 13 28 = 383 = 43 = 583=F 638 = 3= a3 3= 108 = EES 128 = 138 =
S | 26=2/1300M | 255 2/1200M | 255 =/1400M | E4= 2/1600M | 24= S M800M | 25 =/1200M
QR H ALY OIS @dIAH012y (@330l
fun. 4 - _
28% Bl 12X =) oxX 2H= 12X =)
SIE o 6 (@ol=4lgt D22 o2 (BEIEE GHAEDD |020HHAHE
eee 21X QIED) 10X oIy 28% 3l M 3x 288 27F 0lAtY 27F 0| &Y
204 A @QHAEEO  |®alHLX
B0 2 1oz ool 10= 7oy
2EE (DAII0IE S RIAEHERE |(OELAIER [(DHOIE= GEJVESE
eH= 5 lox a7m 23X X 19% 22 12% =) 3Bx ST
CHLH 3t 6 DIDEA0X |©22HRXA [REAAEL DS E A (DX 20t (@5t MIOIH
31X 240l A 1x 2ty 8% E0tA 4% g9s 7TE AMal 10X RoI4
=35 6 & HDIIHO| DAHEMZI| | A=A T HdsE8A OELU==] (62} 2 H b
= 8X E0tA 24 ALE 31X 2tolA 17X =S 30x 252 3% 285
ag | 4 [9B¥0ZY 00ES  @A3t0l WEES
ece= 7x Usa 12F =24 28% Bl M 9x %M
AlS A 5 OEEED (@D ol O (DXto| A @& cHole O]
=== 20X %012 30x 252 3Bx S 31X 2t01A 3Bx S
ons ®213|%S
7S ! PYESRIETES
o M 6 @22 M= S=E B2l At BLE BAATI0|A  |®22CH
B 2x A2 12F =24 18X OIHE 33X ASZ 1x g 14x g9z
0l & TH 6 BLI2AEZ T (QUZAIEEH [DEASSE (D022 @ISR (DBEEHA
< 15X ot 20X EJIE 27X 0lAtY 30x 252 30x 252 7E Qs
ol= 3 O QU EAEL ®0tot&
= 21X 2IED| RESES 33E s F
ME 5 (LA E =V ES @IHZ0CIE (DT FER] (DTHEFAEH| O]
= IRESEIIUES] 8x E0tA 4X 20 4X 20 4X 20
N=x 6 [(PEOOY  @otsaa  [OSSEy DIHSHZ  [0S2ABAS  (DHESIS
e 6F PAE 28% sl 12X =) 19% 22 28% 3l M 9% A
2| AICH (D2H| 20 (IDIH = AEL DAUHAE  |[(@Q2UHAECHZ2 |(QTEEIAEUA
5 4% g8 19% 22 1x 2ty 3% 28 4% AZ0

FFAUX [2024.04.21]




